1. FAZ(EH) FAHAA
gl ol ERIER =& L =%
2016-01-16 | XHAls] =25 2+ HIXEFF 20,000
2017-01-17 | XYL =5 01x= X E =T 10,000
2017-01-22 | XIGAtE =23 Ol =24 X H=F 50,000
2017-02-15 | A HAlE] =3 2«3 X =g 20,000
2017-02-21 | XIHAls] =g VRS HIXE == 10,000
2017-03-15 | XgAtE == 23 HiX g =a 20,000
2017-03-21 | XHAtE =5 ol+= HXE =g 10,000
2017-04-17 | AIHAl=] =85 23 HIXE == 20,000
2017-04-18 | XHA3] oI5 0«44 BIXE =T 100,000
2017-04-20 | XHAls] FF Ol*= HAE =25 10,000
5 mo= | HFIt HFPISAS(UFRE -

2017-04-28 | X|HArtE| =/F DMEHATEME) oy A==z 120,000
2017-05-17 | XIHAle] == oI+ HXE == 10,000
2017-06-20 | XIHAl=l =g 0l*= HAE =g 10,000
2017-07-19 | XN9Ate] =25 Ol== HXE =23 10,000
2017-07-22 | X|HAl=| FaF Ol =24 HXEFg 50,000
2017-08-17 | XIH9ALE =25 Ol=x= HIX|E == 10,000
2017-09-17 | AI9Ale =35 Ol+= X g e 10,000
2017-10-21 | XIYAts] =85 Olx= IENESECE - b= 10,000
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3. FH=(=W) ASHAMAM

AES T AELUS = AZEII=
Hiool 2| | = 3 =il
2017-04-26 e =0 e 10,980 «O{ 2 31 2(10,0802 +12])
HE K&
2017-04-27 182l ZLIE0| M= 72 10,000 * A =T olH| (2502 %407H)
2017-04-27 | 182 ELIE0] AAH|(1LAHSA) 56,000 *ALAIH| (56,0009 +13])
2017-04-27 1etoel ELHE0| =etd| 120,000 *»Z=2Hd| (60,0009 x24l)
2017-04-27 | 1922 ELiE0] AAE[ (1 X/2A{4]) 85,000 * &l AHH[ (85,0009 «15])
2017-04-27 iek2el BLE0| ZHAle| (1R} 8,000 *ZFHAH[(8,0009 x135])
2017-04-28 | 12k2g! ELLE0| AlAlH| (2 X/=Al) 73,000 *ALAFH[ (73,0009 «138])
2017-04-28 180 ELIE0] ZHAE| (22 X} 9,000 *ZFAIH[ (9,000 %1 3])
Hool 2LlE0| I T EEE *NECEEEWE

2017-04-28 182l BLIE0] FRIH| 2,000 *Z= X[ (2,0008 *13])
2017-04-28 | 1222 SLIS0| AlAlE[(2L X}/ Z=A]) 42,000 *AlAM] (42,0009 %13])
2017-05-02 18hoel ELE0| F=5FH| 32,000 * 7= 7H|(32,0009 «13])
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